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THIS IS NOT QUITE TRUE...

Example Cn = EXERY1x=)-
DEFINE E= UCn < R2.

WE USE As

THE BASE POINT.· I EXERCISESEze:

(ii) D
, (E) IS UNCONTHBLE.

~ (ii) T ,LEvE)Ep , lE)*T, lE) .
THE LAST IS VERY DIFFICULT !

HINT : CONSIDER X- WITH TWO PLINT) WHEREI- IIT IS Not "SEMI-LOCALLY SIMP. CowN. " So APPLY THM 1 .2

of CEDA 2002]
--

②FFERT-VAN KAMPEN
THEREMD SUPPOSE IX,XO) IS PATH CONNECTED.

Suppose GAaZa IS AN OPEN COR So THAT

FOR ALL L () Yot As

(ii) At IS PATH CONNECTED .

DEFINE2 :An X .



DEFINE=* (): *D , (Aaxo)-, (,Xo)

① Suppose ActAp IS PATH-CON FORALL <B.
T IS SURTECTFE .

DEFINE &p
= Ag1 , AND Las : Bap-Ad

DEFINE BLU = AgrAp1Ar
DEFINE

n= Glp((w) · (4) Iw)-1) FORALLGM WITH
DEFINE N=<UT) THENMAL CLOSURE of U

② SUPPOSE BaeY IS PATH CONN FOR ALL Lipir.

THEN KER(E)=N

THAT IS :

J
,
(Xi4o) E*T , (Antol

N

③ APPLICATION D
,
Cs'vs)=*I.
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⑪Pf0 : FIX (AJEA ,(X ,Xo)
A FACTURISATION Of If] IS A LIST

[Cf,] , (fc] ,-- [fu]] So THAT FOR ALL : THERE IS

A x(i) WITH [fiJET
, (Axis ,

Xo) .
AND

f8f , * fz* -- * fr (CONCAT . ofPATHS] .
THAT IS : If] FACTORS IFF (f) EIMAGE().
->

CAIM : EVERY (fJE #, (X ,Xo) FACTORS .

POF : [f"(A2)] < IS AN OPEN COVER of I .

LEBESGUE : THERE IS A PARTITION O toct , < ---+ = 1
-

of I= 10 ,11 So THAT FOR ALL i THERE IS <(i)

WITH fICtitin]) <Acti .
SET Bi= Azliv1Aali)

BY HYPTTHESES
, XotBi,

fiti) +Bi , AND Br PATH-CONN

Azil
PICK gi :

->BiDr g, (0)=Xo , g , (1)= f (ti)

DEFINE :

-

f fo = filto, t ,],

·trotti S Fi = gifttit]i

fn = gn * f(tn-1 ,
tu]

So fetof , *7 * - *In ! ] it


